
An interesting problem for practising numerical systems  

and developing concentration abilities 
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#5  O     K !     B Y E . 
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  I   D  A Y ! 
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   Q        U  A R E D ? 
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#2    F  I V E O C L O K C . 
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A T E ! 

 

Dialogue ordered! 

 

#1    L E T S M E E T O N F R I D A Y ! 

#2    F I V E  O C L O K C . 

#4 A T T H E T H R E E  S Q U A R E D ? 

#5  O K !   B Y E . 

#6 B Y E !   D O N T B E  L A T E ! 

 

Please note that #3 is left out deliberately. (The ai is to check the attention paid to 

details and 03 reveals that the base is 4.) 


